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3 Uael 3ieflerel Jar RIS 3MRNeT, oiEeld
URfdd 3Ear wdienm (PET)-2022
HRNTUT IR Boft (Master Set)

i
16.10.2022 U Tl

BT |1 o G SRk 7T (eleht) o s wifemn s % firg qeheieh ol
gEaTe fema TR T |
o ) gerg (sifee)

technique was used for making bronze statue of Dancing Girl during Harappa
Civilisation.
Lost Wax casting

T G4 1 T Tohe T S ae WuTH gaT AT 7
EIEC]]

Gautam Buddha attained enlightenment on the bank of which river ?
Niranjana

m%w%mmﬁaﬁmﬁmmﬁm@mgm
EEI]

Which of the following was new capital during Harshavardhan’s reign that shifted from
Thanesar ?
Kannauj

03

forerferiiea ¥ & fopm @1 <Y areha “sTamR (7fee) wRIRY ot 7
ST

Which of the following army’s strength was “Guerilla warfare” ?
Maratha
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5. orfewr Freferera 2 & foer vimem bt s wraet 3 s e <Y Segean @ 7

st
In which of the following languages British showed keenness in introducing in Indian society
9 _

English

6. ol o St Hi Y T S kit st A RiRge |
At Mgt

Write the name of first activist who demanded complete independence (Poorna Swaraj).
Hasrat Mohani

7. FefeRea 4 @ fpd weeh stidier 1 e wror awE s 2
wTe <t faTRr & vt Fife |

Which of the following is considered as major cause of Swadeshi Movement ?
The decision to divide Bengal.

8. et 1 1 SeT % ware wieh % fofa 3 S T s o ;
Tegatt s waemrt % e arfres wohar o & for |

The main reason behind Mahatma Gandhi’s decision to take up the Khilafat Issue was:
To bring more unity among Hindus and Muslims.

9. YRd bR AR, 1935 % s # fofewr wenm 6 3ifem arfrenmc w1 we Serator w5 @ o
?
SR TR O TTe o fore fasy wiRwat

Which was an example of the ultimate authority of the British government in the provisions
of the Government of India Act, 1935 ?

Special powers for governor over provincial governments
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10.  HES stk <hl wro feferfiaa o @ foraes @R <l a8 oft 2
[T o5 99
Forward Bloc was founded by whom among the following ?
Subhas Chandra Bose
11.  @Egy <l gorer e s di 2
el
Which among the following is the capital of Lakshadweep ?
Kavaratti
12.  wra o Frafofea 7 & fora wom ot fem 3 ua & qrowr 7 saroes e o S w7
IR 7o e
At which among the following places in India, one can find a wide difference in day and night
temperatures ?
Thar Desert
13. fowa =i foram wg@ shrer &1 (2rs@ s o fennifra R R R 2
Into how many major time zones, is the world divided ?
24
14. Fraforiaa § & s S qiteds 1 e 16 & 7
RIUTCT
Which of the following is not a component of population change ?
Morbidity
15. 38 ST o1 I SaTse i “geeft 78 o %He” o 9 B 1 ST |
IS a8t o
Name the forest which is known as the “lungs of the planet earth”.
Amazon rain forest
03 4 MASTER
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16.

“ferar & @ forre” % R A, fFrforfaa o & i o dererfe AiemT 3w 6 s oft 7
<Neft qerenffe s
With objective of “Growth with Stability”, which among the following Five Year Plans was

launched ?
4 Five Year Plan

17.

Treferiea 4 @ forad safvrt o1 et & wg % i Tt sreEE w7
Frft &=

Which among the following consists of business owned by individuals or a group of
individuals ?
Private Sector

18.

e o @ fordt v # it shifd % Stv1er & w9 A ST ST £ 7
LERC R e e

Who among the following is known as the father of green revolution in India ?
M.S. Swaminathan

19.

frfofea o @ form arfrfaem 3 et 3 Tl & fore v R 6 2
<ifebm shafrat (Sushmt 1 Irfmrgor 3 gEiaRon) SR, 1970

Which among the following Act laid down the conditions for nationalisation of Banks ?
Banking Companies (Acquisition and Transfer of Undertakings) Act, 1970

20.

1991 % 7% anffer Ay (w.dd.) F aga e i Foheor 6 vge w1 s gRom
Fefafgadasarar ¢
Ayl

Which among the following was the primary outcome of the liberalisation and privatisation
initiatives under the New Economic Policy (NEP) in 1991 ?
Globalisation

21.

fFrerferea & @ o =t e w6 ger Reivar @ R ¢
-l TR

Which among the following is not a salient feature of Indian Constitution ?
Two-tier Government
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22,

Wi Efrer % fore DPSP (trewr +fifer 3 Frdwres Rgia) FreferRee o & frg gfiam A Sfa o 2

RS

DPSP (Directive Principles of State Policy) for Indian Constitution was inspired by which

among the following Constitutions ?
Ireland

23.

wTeder G % e 19 8 i ar s e 7
A 3R tfrexts @y w1 it

Article 19 of the Indian Constitution includes which rights ?
Right to freedom of speech and expression

24.

T SoTTelt 7 HriuTferes! frees wi STerh B R ¢
foram-vew

In a parliamentary system, to whom the executive is responsible ?

The legislature
25. VR <hl G Tt e T fopae T ?
o w®w
How many tiers are there in the Panchayati Raj System of India ?
Three tiers ;
26. U 16 FTaR ST fohe aTe & SR e & 7
746 |1
One horse power is equal to approximately how many watts ?
746 watts
27. Frafafea & @ =9 o v varte st =i e ¢
Tt =T W19 3 i
Which of the following is not a chemical reaction ?
Conversion of water into steam
03 6 MASTER
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28.

grafeEn fr 4 8 fRegsm T R 7
LES

Pyorrhoea is a disease of which of the following ?
Gums

29,

TG Teh SHaeh &, SN Frferfiaa § & et urn srar @ 2
et

Phloem is a tissue found in which among the following ?

Plants

30.

frerferiaa § & @ a1 QR SR At § yam Rer T 7
e s

Which among the following acid is used in car battery ?

Sulphuric acid

31.

T R N W N

Which of the following fractions is the largest ?
7

8

32.

(6.73)3 — (4.38)° _
(6.73)%+ 6.73 x 4.38 + (4.38)?

2.35
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33. 191 framufom@ 7.6 % 7
40 wicrewa
What percent of 19 is 7.6 ?
40 percent
34. 60 % 80 o siter Y muft anvrsw weTaT @ oftEa &
The average of all prime numbers between 60 to 80 is :
70.2
35.  /12.0409-1.2544 =
2.35
36. “HQEAT 1 Gitr-foede o g ?
|+ qIEHT
37. Y@ 3N wWe’ w1 a7 2
g IR wfien
38, ‘@ # firerr - gerer o 3t g
qd $HS TE B AT |
39. ‘e’ S ol v B
03
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40. 8 %1 forenn weg @

Read the passage carefully and answer the corresponding questions : (41 and 42)

For the past week Elizabeth would come home from work and discover that her apartment smelled
like cigarette smoke. She did not know where the smell was coming from. Elizabeth didn’t smoke.
No one else had the key to her apartment to smoke inside while she was at work. The smell of
smoke especially bothered her because she had asthma. One day Elizabeth stayed home from work
because she was expecting a package. When she woke up that morning, the apartment smelled fine.
At one in the afternoon, Elizabeth went into the kitchen to make a sandwich for lunch. That was
when she noticed the smell of cigarette smoke. She called the building’s superintendent. By the
time he arrived at Elizabeth’s apartment, the whole place smelled like cigarette smoke. The
superintendent told Elizabeth that he was pretty sure the smoke was coming up through the vents
from her new downstair’s neighbour.

The new neighbour was a smoker. The superintendent told Elizabeth that there was nothing to be
done. The building was really old and the vents couldn’t be sealed. It was also perfectly legal for
the downstair’s neighbour to smoke in his apartment. He suggested that Elizabeth should buy an air
filter and see if that would help. Elizabeth bought an air filter but didn’t find it to be enough. Her
asthma was getting worse. Her clothes and furniture were beginning to smell like cigarette smoke
too. Elizabeth decided to go downstairs to talk to the neighbour. She was going to ask him not to
smoke in his apartment. Elizabeth knocked on the door. When he opened the door, a huge wave of
cigarette smoke came out. Elizabeth began coughing violently. The neighbour gave Elizabeth a
disgusted look. “Are you trying to get me sick ?” the neighbour asked her. Elizabeth couldn’t
believe what he was saying. “No, but you are ?”* she said.

41. Elizabeth was suffering from
Asthma

42. Elizabeth’s new neighbour lived
downstairs '

43. Choose the correct synonym : “Exile”
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Banishment

44,

Choose the correct antonym : “Mourn”
Joy

45.

Give one word substitute for the following :
“one who sells articles at public sales”
Auctioneer

46.

ST T 1 Ug TR 7 ohi fop Fmaferiaa o & =i a1 Ior fRrepey 39 1 el & ot dey
T8 & B e g |
YA :
L fer urferestor 3 g & H wIet H geg o ane diehd ag R |
I YEUH BIR-HIS UL <hl ST H <h1eh! e} S 2 |
HY 1 HRVT § 3T H L SAHT I ¢ |

Read both the statements and decide which of the following answer choice correctly depicts

the relationship between these two statements.

Statements :

I.  Police authority has recently increased vigil during the morning hours in the city.

II.  There has been considerable reduction in the incidents of petty crimes in the city.
Statement I is the cause and statement I1 is its effect.

47.

it 3 fereleh @ g1, “8 safeh W AT 6 eheiia WS o1 o & |7 et 3o e et ¢
Bl

Gopi said to Vivek, “That person is the father of the only brother of my mother.” What would
Gopi call him ?
Maternal Grandfather

48.

feom g+ / Find the odd one out :

3,13, 17,23, 33, 67
33

49.

03

6:10 T <hT w2 <hl H3 3 fire <t g <6 sfter o1 Hior 317 Hif |

Find the angle between the hour hand and the minute hand of a clock at 6:10.
125°

10 MASTER
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50.

If¢ A I 26 % &9 | shifsa foram SIaT 8, B 1 25 3 &9 # shifed fmm St 8, C ol 24 & &9 8
Hifea g ... 3R Z 1 1 % &9 1 ifee foram simar ], @ MOBILE & fofe wie @St

If A is coded as 26, B is coded as 25, Ciscoded as 24 ......... and Z is coded as 1, then find
the code for MOBILE.
141225181522

51.

T TS AS-3e 14 h) SHSTel FoT8 oh) Weh 78 ST <l @i fShd TSI H I T R 7
Con

A new species of Damsel fly named The Anamalai Reed-tail has been discovered in which state
?

Kerala

52.

WK TR T o Todt 1 < Helaeita Sadia Tg ohi STTgae ToT JWehR & SeTia feherm 7/t ?

3%,
Which country’s All-Party Parliamentary Group on Indian Traditional Sciences conferred the
Ayurveda Ratna award ?

UK

33.

INS T 3 A TR T o wrgrT TeHTs (el 411) it R (i 413) % T
Teh T TS S1RATH T SRS 6T |

qsH

INS Tarkash conducted a Maritime Partnership Exercise with Navy ships Almazz (PC
411) and Nimer (PC 413) in the Red Sea.

Sudan

54.

Srpf Frferiaa 9 @ forer & & aiftr Jet 8 7
JUNITHT SRSl

‘Jagriti’ is a mascot related to which among the following fields ?

MASTER 11 03
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Consumer Awareness

55.

TRy N R 3Ttemee o1 == = ol |
G TR

Write the new name of Aurangabad located in Maharashtra.
Sambhaji Nagar

56.

Fraferfea & & fpa ot 7 geg, 2022 #, wrdia fRaenfeat & vesiv = agm & fog wid=
it T (I0A) o HT CreienTieTeh TTSigi shl e < ?

e e ffires
In July, 2022 which of the following company announced a long-term partnership with Indian

Olympic Association (I0A) to elevate the performances of Indian athletes ?
Reliance Industries Limited

e

1T TR Hiew = Fordt T2 o W oh) Tt il et (Qelt) | it afeiomn & bt 7
el

Tata Power Solar started, India’s largest Floating Solar Power Project in which state ?
Kerala

58.

femmarer wew # 21 feaeia wgwh 3 a1 WBR 2022 T 2wt 3 st gowt gan ?
Between which countries the 21-day joint exercise Vajra Prahar 2022 concluded in Himachal

Pradesh ?
India and United States of America

59.

03

1ok HHANT TISH ol 3e¥2 B:
YT 4 T ATHor STk Aeehi ot FEaIatt ® ghg

The objective of the ‘Dak Karmayogi’ portal is :
Enhance the competencies of about 4 lakh Gramin Dak Sevak

12 MASTER




60.

SIS, 2022 H, ikt S 7 il bHe shi Sterary wfoef frwt 1 foshfa e & fora forees
T Teh FHE T 0 T geare fru § 7
T

In July, 2022, Coffee Board has signed an MoU with whom to develop climate-resistant
varieties of the coffee crops ?
ISRO

61.

Freferiaa = @ a1 < WG % 91 ge wisl iy i aEn e e ?
AT

Which among the following countries shares longest international boundary with India ?
Bangladesh '

62.

e o & i € geuser <1 a8 ?
SiEEeH

Which among the following is the capital of Israel ?
Jerusalem

63.

Frefafea 9 2014 1 w9 r T YRA HT 20aT TR AT R ?
AT

Which among the following is the 29" state of India created in 2014 ?
Telangana '

64.

Freferfiga @ fove osa 1 foum afwe 2 7
Hleh

Which of the following states has the Legislative Council ?
Karnataka

65.

ora fem st vt arg B feme & &9 8§ TR SaT R 7

MASTER 13 ' 03
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8 g
Which day is celebrated as Indian Air Force Day ?
8 October

66. Trefriaa § 9 Re8 Wi w1 whicels Wi el Sar @ 7
i

Which among the following is also known as Scotland of India ?
Coorg

67. el T Y WG ol TR Her 8 |
Hish
art is the traditional art of stenciling from Mathura.

Sanjhi

68. ﬁaﬁa?a_ﬂnﬁhaﬁﬁfﬂr%ﬂwuﬂﬁ@a% ?
Jarer

Volleyball is a national game of which among the following countries ?

Nepal

69. TFrfafaa o @ form safte = wiiteg geaes “g Wit 31T ATS wawmafviey fog oo foreht R 2

HETeT ieht
Who among the following persons wrote famous book “The Story of My Experiments with
Truth” ?
Mahatma Gandhi
03 N 14 MASTER

( uﬁ SITEaTer )
oRIEn Fase

275 S
SY Y] dl OO+

M many

RECEIRS




70. argAved H MAEeE A9 vt & siftrenrr scafia ! JrEnia sl €, s e
TYAVS i TH HT B |
Jraer ferfemtor

Greenhouse gases in the atmosphere absorb most of the Earth’s emitted , which heats

the lower atmosphere.

Infrared radiation

Frefeia sg=dq o errmydes Yget g8 R Wl (3. 71 @ 75) H I AR |

TGeh TGT o SRINT Shl T ST oh et # ool o et W 7 | s TR By Y @ifer il 3 Seheml w1 Ry
T 3 WG TErel ITRE SIS B & | Thel-<hiciall a1 Ue-ugig ¥ Terd G 3 el % T 8 e,
forme, sroa, wifer, Wim, arhia 3k qua afed =, Wi, HiehH, SIS YR S Hidsh HIceh Yereil 3 der
<l 3TN Y 3T HeH TG I & | T8 I+ HIGeh el 36T H ST HUeht FEehT oiell ST STl & 37
Al S TR S Fh T <Y & IRt ST 1o i <hi QT B ST & | A~ g fem T o e e e
TG | 121 < T IORINT & 18 it Tt gt W, 31, <, <61 <hior ot sielt &, it 3ieidl: UgH ol &9 HR
HUAA & | 3 TR A T ¥ h & Tewl & 91 6l 3ed hed & | 3 ot & e ol o2 @ €, 98 Ak
SRR e € < ST et 2§ | Rrfeheeehi ST o A 3T, 35, <, b e S S
TG TEr| & ek STed o ST9HT W Hqer T ASdT 8 Tl el dil GHISRT 3 8 Sl @ | 3 O SR
@ et verel &, Rrreht ot o e 3 safn Toe e oS3 B | U@ g e, ik, SgeneE,
TSI, T o SRl ATHETE 3 wriRes ud rfies &9 & oSt gl & | wer i e 3 v aftg
e & o o1 g 2 | e ft e & b Sfart S ] | 1 6 He ¥ 7 St Sited we & vgel & did
%1 RIEHT B ST § | WA o e Al & g ot 3§ 3 Tefieft ereqatt ol Sl siear <11 &1 8 | okt & 78
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gl o 2 IR gl <ol & | T o o el A i o R <Y eht @t B e die 31 s e e
3T = T 8 | el ST Tl & gHi gar gl ?

71, 31 oht gat Nt & wreeh wereit o TR <6l oid ve T R | fow e st # @ 56 @a 1w w
T 3fra gl e ?

ET-He! T -G I Te |

72. HIEH geAl ohl oid TS o S1E Jerehi 1 i ©ft el s & fewE At R 7
() TG S e H et g |
(ii) TR 3 TR A |
(iii) WY Geer @ < |
(iv) < s ht 3Ted |
@), (i), (iv)

73. mw@ﬁmﬁmmﬁmﬁgﬂaﬁﬁmmwwﬁm%?

1. wmifes srgrm
2. UTTEHH 3R gy
3. TE.emEE Iugm
4, AT ITEGE |
g ot
03 16 MASTER
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74, 3 2 A e geAl oh1 el ohta TTSY T o foTT Ho ST i QI & 7
el oh Hl-aq

75. T % ST TAT B AT a3 g et Sreq 3t T SR T ST @ | ek WS Hel Seel Sl
FHATR 7

Tt —aTq T O S TRT S oh I o= T g 8, TR i 3 e TEa & S Fen wt
o 1Y ITehT ISAT-AST © |

frafifaa sede ! SIS TgHt IO TR W (. 76 @ 80) F I AR |

A FRifi ST < e 3 STarg ST fereher et ohl g ) 3 o7 e o T I @ | 3T Sl
ferefter crect on o o 36 T 21 ST ST & o w1 e ohl g ot 3 fore forerf) s st € sfisw
el Pew R &, Rl 75 7 ot Puffta stva o e S Sirg Teh | TerRoT HeT § S STl s=
it PR i ST 3T 8 & 6 <t ufdy a1 1o P 31 & s o 31 W@ O 8, 98 99 @ S A 3
) 3 s R e et e et 3 ot e e e & it ok wierer 3 amaeht wvfer 5w, 9 e @
| ST eI eIl oh TTe @ | feh STt uiee SHihe 3 srerd @l a1 3= fereft e o e e oeh T
T e I Bl 2, SN G B & S STTereehaT UgH U ST & feRret ST Eehdl & | iR g sreeht
foprer i =ITeret 36 T 3 T S A T <l v ok s fRyareRt Ta T e st s i Aot 6 & e |
el T T T IR B o ST & SUeTe B & | ST U8 S SR gl 1 JTThret
STl o RTe BI ¥ | s 3w T et S TR 3 genTered 3itreh g T § | 36H Sga wA AT
USSR BT & | s A ST fest wga e e & wifes e s et H ot ot g i @ |
T ! wga & o T foreran & R gerahifer off sher T 8wt 2 | Selemior snfies el % forg
e fobe ST R | e s St e i st 7 3 s Raw i an = fe e R wend § | Rem i e
fet ot T 36w e o T B | PR & 31 o TR o R TS W et o gig W
T | R e i wE, 3, b, 3R v o e alies # | e, W, sl o g anfe |
e 0 3 1 31ie o 3R STRTER i JTTeEehal Bid! & 3 ek off ey @ 8, Weg Wl alieh ¥
b T e vy H oS T g s wehar & | forerer fobe R S wehem & ST T T @ STUTH sreehl
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SO ST ST T TR 4 S Eehdl B | 3 & i SITH S ok fore s e it s =iey | whis o
T Tl BT ST g AT e S |

76. ITeRE % IR L sy fob FrerferRaa  fawr it sl o vl feiward g 7
() v @ e anfeies wiew y fopu 511 Thd § |
(i) e reuret § gl % alsT g | |
(iii) TR grr afteR % @t @ =g 8 iy rest fewr R |
(iv) Terr o S e bt wvviem o wny fees ot T R |
(i) 3K (iv)

77. WY i SN 9T F R AR | 99 smuR W FefiRea § S o & Rerer vt € 2
1.  Wwfem R fan fen g )
2. U1 <kl 4g s=d SiRad 9refl # |

3. YR E{enTEd g |
4. YR Eien R |
4

78.  ITTRE % MR W a3 3 Srefeprel= erezt =t qr o forw, Frerer o forar o faferfaa o @ i
1 a2 I B 7

1. dieleprel @et <6t anfly o7 e gRT & Evie B Tehdl B |
2. drelenrelia el shi it drefepreti ares ek g € Ewe g wend @ |

3. Seiehrela wiga shi Wity Ee Tl &, wifeh Sreiehret Harer § o g1 w1 SiRan (W) g
7

03 18 MASTER
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srerd Fers & germ # surer areet B, sriifes faw # wiftan wftrer @ <t mife o 98 w1 ot @

S |
1,3,4

4,

79, fa=ferfiga o @ samsu o i a1 foerea Ay 1 Semwr & R 2
Qe & @ # @ e

80. fr=faRaa # O vamu 6 w1 a1 fereq s &1 3g@w & ?
i o T @l |

9 G, 81 ¥ 85 : Fmfiiaa =i ww (T@n 31er@) =61 e o Sl 2011 ¥ 2016 o B8 961 < g
Wedieh oY <hY [eTe H kel 1 Wt B 37N Tehel Bl dTe B hl TE1 <l & |

Q.Nos. 81 to 85 : Study the following line graph which gives the number of students who joined
the school and left the school in the beginning of each year during six years, from 2011 to 2016.

2010 ¥ wga & wbie e = 3000

@0
E Initial strength of School in 2010 = 3600
3 700
& 550 . 600
s g% 300 500 500
=]
2 400 500
300 400
E 200300 350
G 100
0
jE 2011 2012 2013 2014 2015 2016
=" / Years

= T AN N AT T A O e T BIYA AT BEAT T AT

~ Number of students who joined school Number of students wheo left school

81. 2014 % ST TR H TG aTet BT <hl G ot
The number of students studying in the school during 2014 was :

3150
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82.

fope o 9, foret ol <l gt H whet Bl aTel Bl <6l v ¥ wferrd gfg/frree st g 2
In which year, the percentage rise/fall in the number of students who left the school compared to the
previous year is maximum ?

2012

83.

2012 & 2013 ek Tehet ! T § e fehan wferera <6 giig /st g8 ?

The strength of school increased / decreased from 2012 to 2013 by approximately what
percent ?
1.7%

84.

2013 H Thet § g 1ol BT shi TEAT, 2016 H Whet # Ue el STl <hi T %1 feha iera off
?
The number of students studying in the school in 2013 was what percent of the number of

students studying in the school in 2016 ?
93.75%

8s.

@ 71E Irafes 3 G Topelt oft ol & woper # wfireT €19 At ST <l *Tan T S WA Bied ardt
B sht SAftrehan G & aruTd fha ] 7
The ratio of the least number of students who joined the school to the maximum number of

students who left school in any of the years during the given period is :
7:10

T . 86 8 90 : TE AT hT LT L TN 3 W TG T¥1 oh I G |
Q. Nos. 86 to 90 : Study the bar graph and answer the questions based on it :

Forra wst # ol g Avamge W IaTEA (@ #)
.. Production of Mobile by company (in Lakhs) over the years
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What was the approximate percentage decline in the production of mobile from 2003 to 2004
()

23%

87. 2005 3i 2006 1 3iea et PrferRea 7 @ fore o & 7w % St edrer o Sieh SR AT ?
2002 3K 2007

The average production of 2005 and 2006 was exactly equal to the average production of
which of the following pairs of years ?
2002 and 2007

88. 2001 s gerr 2008 # HYaTEet % Ieane H FAgATa wferd i fehert ot 7
What was the approximate percentage increase in production of mobile in 2008 compared to
that in 2001 ?
183.33%

89. Troe ad o gor # fope o Scare  witrera gfig wedt arferes oft 2

In which year the percentage increase in production as compared to the previous year was the
maximum 7
2002

90, forwra Rre ot & HisTset w1 Scated fow e et o JftEa IeTTed ¥ feres o ?

In how many of the given years was the production of mobiles more than the average
production of the given years ?
4

TG, 919 95 ; gl fuftrer vier shafRit ot s R 1 oo ol Tt Sheenfiet <ht e € 7 @ | etk o
T v T SEeT R SRt gey U wiien s w5 ke o e g |
Q. Nos. 91 to 95 : There are five companies and we have been given the number of employees working in

different companies. In the table we have also been given the percentage of male and female employees in
account and research department.
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e@n/ Account argesm/
HoE! / war / Research

Company | Employees | 9o/ | wWeend/ | goa/ | weemg/
Male | Female | Male | Female
A 450 12 14 9 7
B 700 19 10 11 13
C 550 28 14 4 7
D 600 31 9 6 4
E 350 12 18 3 7

91.

Ife SR R o St E % 60% H=iE! o ure MBA <l feift & 3R sger fevm o 36t shoeft <6
40% H=ITiE! % I MBA i faft &, @i st E 3 forem sl o ara MBA <l faft @ 2

If 60% of the employees of company E in account department have MBA degree and 40% of the
employees of the same company in the research department have MBA degree, then how many

employees have MBA degree in company E ?
77

92.

s fa 3 s B oy e shetiEl <Y G st e R i s C 3 e s
T § AT foharT & 7

What is the ratio of the number of female employees of company B in account department to
the number of male employees of company C in research department ?
35:11

93.

03

U A T orE HHETE] ) el GeaT ol E o STET ST hl et Tt 8 T foha
fersra atferes 7

The total number of account employees of company A is approximately what percent more
than the total number of research employees of company E ?
234.29%

22




94, U A 3 C QT % o v # shRitd et T6Y =il sl et B 3 D Qi o SEUH
T 7 it Spet wfgen i @ sruTa fha @ ¢

What is the ratio of the male employees in account department of company A and C together
to the female employees of research department in company B and D together ?
208 : 115

95, eft Ul (ot D o Bigert) o i form <h1 ufyer o= i et et s it ad
SHufEl (St A 3R E =l Bigert) T SIgEe o 3 qen swHeiEr 6 gt et g@im %
offer o1 3 fheT R 7
What is the difference between the number of female employees of account department in all
companies together (excluding company D) and the male employees of research department

in all companies together (excluding company A and E) ?
138

I . 96 & 100 : ey arferent e Y@ S AT % S1Um 9T g T A, B, C, D 3R E i SHEEn
w1 i faor i 2 |

Q. Nos. 96 to 100 : The following table gives the percentage distribution of population of five states
A, B, C, D and E on the basis of poverty line and also on the basis of sex.
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wea/ | s a e uE wigeneti o aTgam /
State | GG Proportion of Males and

wfewra/ Females
Percentage of | wih wnaf=/ | e Ton @ 3w
Population Below / Above
Below the | pgyerty Line | Poverty Line
Poverty Line
g/M:w/F | g/M:u/F
A 30 5:6 6:7
B 20 315 4:5
C 25 132 233
D 20 322 4:3
E 15 5:3 3i2

96.

Ife T=" C & fore st W@r & S 31 a1 geut i sweE 1.5 il 2, @ usa ch o
SrrEE fopat & 7
5 forferam

If the male population above poverty line for state C is 1.5 million, then the total population
of state C is :
S million

97,

Tsg D # s Y@ § S 3 areft wfgenstt i gen = e, gk wwya e fFusa DR
Saen 7 fufer 8 2
2.4 Prferm

What will be the number of females above the poverty line in the state D, if it is known that
the population of state D is 7 million ?
2.4 million

98.
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What will be the approximate male population above poverty line for state A if the
female above poverty line for state A is 1.8 million ?
None of these

99. FfG T=A B % fore el W & = o gl B S 2.4 fiferem sitcusa E % e 6 il 2,
I UsAl B 31K E 6 el SHESI U A §
If the population of males below poverty line for state B is 2.4 million and that for state E is

6 million, then the total populations of states B and E are in the ratio :
1:2

100. e 754 C <hl oot St 4 forferar 8, o Tsw C 8 sl Y & S s sl wfyenat 6 o
AT T HIRT |
1.8 fferm

If the total population of state C is 4 million, find the total number of females above poverty
line in state C.
1.8 million
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